
PRODUCT SPECIFICATIONS

1 | 1 
 

Shuttle Computer Handels GmbH · Fritz-Strassmann-Str. 5 · 25337 Elmshorn · Germany 
Tel. +49 (0) 4121-47 68 60 · Fax +49 (0) 4121-47 69 00 · sales@shuttle.eu WWW. SH UTTL E. EU Date: 2024-08-19 

 

  

 

 
 

 English Deutsch Français 

Compatibility  
and use 

Kompatibilität  
und Anwendung 

Compatibilité  
et application 

The Shuttle Accessory MRS01 is com-
patible with the Shuttle Box-PCs 
BPCWL02 and BPCAL02. The two ear-
mount brackets are mounted on the un-
derside of the Box PC using the M3 
screws supplied. The Box PC can then 
be attached to a surface - four addi-
tional 4 mm screws are required for this 
(Screw type depending on the surface), 
which are arranged rectangularly 256 x 
100 mm. 

Das Zubehör-Produkt Shuttle Accessory 
MRS01 ist kompatibel mit den Shuttle 
Box-PCs BPCWL02 und BPCAL02. Die 
beiden Ear-Mount-Halterungen werden 
auf der Unterseite des Box-PCs mit den 
mitgelieferten M3-Schrauben montiert. 
Danach kann der Box-PC auf eine Ober-
fläche befestigt werden. Hierfür werden 
vier passende 4-mm-Schrauben zusätz-
lich benötigt (Auswahl je nach Unter-
grund), die auf einem Recheck 256 x 
100 mm befestigt werden. 

L'accessoire Shuttle MRS01 est compa-
tible avec les Shuttle Box-PC BPCWL02 
et BPCAL02. Les deux supports Ear-
Mount sont montés sur la face infé-
rieure du Box-PC à l'aide des vis M3 four-
nies. Ensuite, le Box-PC peut être fixé 
sur une surface. Pour cela, quatre vis de 
4 mm sont nécessaires (choix en fonc-
tion de la surface), qui sont fixées sur un 
rectangle de 256 x 100 mm. 

Scope of delivery 

Lieferumfang 

Contenu de la li-
vraison 

- 2x Ear Mount brackets (steel, black) 
- 4x M3 screws for mounting on the Box 
PC 
- Quick Installation Guide 

- 2x Ear-Mount-Halterungen (Stahl, 
schwarz) 
- 4x M3-Schrauben zur Montage auf dem 
Box-PC 
- Kurzanleitung 

- 2x supports Ear-Mount (acier, noir) 
- 4x vis M3 pour le montage sur le Box-
PC 
- Guide de démarrage rapide 

 

ACCESSORY 
for Shuttle Box-PC 

MRS01 
 
 
 

 

 
 

 
 

 

 SHUTTLE BOX-PC ACCESSORY: MRS01 (EAR MOUNT) 
 

Shuttle offers a wide range of optional accessory products for the Box-PC series BPCWL02 
and BPCAL02. The Shuttle Box-PC Accessory MRS01 consists of two Ear Mount brackets with 
which the Box-PC can be mounted horizontally or vertically on a surface (wall, table, etc.). 
 
Shuttle bietet eine breites Sortiment an optionalen Zubehörprodukten für die Box-PCs BPCWL02 
und BPCAL02. Das Shuttle Box-PC Accessory MRS01 besteht aus zwei sogenannten Ear-Mount-
Halteblechen, womit der Box-PC horizontal oder vertikal auf eine Oberfläche (Wand, Tisch, etc.) 
montiert werden kann. 
 
Shuttle propose une large gamme d'accessoires en option pour les Box-PC BPCWL02 et BPCAL02. 
Le Shuttle Box-PC Accessory MRS01 se compose de deux plaques de fixation Ear-Mount permet-
tant de monter le Box-PC horizontalement ou verticalement sur une surface (mur, table, etc.). 
 

 

Ear Mount 


